2%we12r.

6 U gfta® ®) 79 7% | Wiel @4 9% 8 7 1Y 1/ Do not open this Question Booklet until you are asked to do so.

it § g H1 w32 a o g
No. of Pages in Booklet : 32 £ g
g # g B W@ : 150 ALP-23 ] Eg ggg‘g
No. of Questions in Booklet : 150 ] g 3 ‘éﬂ &
Paper Code : 36 PAPER-II a " E @

z al
SUBJECT : Geography-II :
wHa : 03 "Hue+10 e st Ffamad @ : 75

Time : 03 Hours+10 Minutes Extra®

Maximum Marks: 75

am A8 2 /a3 Sl #
Teosht o w0t Rmmim o gt
e uwl ¥R @5 fee gvan oF faed =m e o

and no page is missing/misprinted.

&M e wherdt ferw A v

LG 'ji?i'ﬁil & e W ﬁ'ﬁ,f‘"!hﬁ‘lﬁ i e W U U UE R W 8 ‘]ﬁ aéemdt o ﬂ‘ﬂlﬁrﬁ *1_=i_ri o
o U¥ REE TN W HIUHAN, Se-wEs a9 At aews den aae 8
o uv qRoF [ SR STR-UFE & Wi ge g o w1 e 8 e v S b e altia B oavam § o @8 i e

T4 e | | 3% gREEs s @ el sl S e
firem el flan = o

On opening the paper sealipolythene bag of the Question Booklet before attempting the question paper the candidate stiould ensure thar:-

*  Ouestion Booklet Number and Barcode Number of OME Answer Sheet ane samie,

= All pages & Questions of Question Booklet and OMR Answer Sheet are properly printed. All questions as mentioned above. are availabie

Il there is any discrepancy/defect, candidate must obtain another Question Booklet from Invigitator. Candidate himsell shall be responsible for
ensunng this. No claim/objection in this regard will be entertained after Ove minutes of start of examination;

4 OMR owe-oaw 39 W gitas) & arey 76 §| 9@ W9E1 O
e i wE W o e P e wE | s A
o A i Wi
e T TR SeTEs g moiiE A w
ot w et SR g
o YT wwt afw @1 4 /3 WIT WTET G| e O
e el o ows o e @ e o A B
sy okt & S w1, 23 4, 8
faffe oo gy =0l @ P09 W
Wi dfge 19 9 Te0 w0 )
8, o e 4 uivk (5) R
| ufty wiw § | wn f i mew A e o & oo i
alw W1 1,73 I WTET W
ot o wavi arend] sl WS ST s Wi
wr ww @ fert yw fiwen () s oo o # ) gee
10 Rz o aiftfws i faay mmam &)
wr A uim fawey @ & vl o ey aifem

13:118
zggigggé
!,--u-

i
bl
4

i
-
1
3
e
1

5453419453

g3 iy
a

i
:
b

f

i
%ﬁ»
z
|
:
:
:
;

INSTRUCTH) R CAN T

It is mundatory (o (il one option for each guesthon.

All questions camy equal marks

Omnly one answer is 10 be griven foe coch guestion. 1 mone Uhisn one answers

are murked, it would be reated o5 wiong answer,

The OMR Answer Sheet is fnsiche this Quesiion Booklet. When you ane

directed 1o open the Queestion Bookle, iake out the Answer Shoet and 11l

i the particulars carefully with BLUE BALL PCINT PEN oaly

5. Please correcily fill vour Roll Number in OMR Answer Sheet. Candidate
will themselvey be responsble for Hifing weong Roll Number.

6. 13 part of the markis) of ench geestion will be deducted for cach
WIMNE ANSWET. A WIUNE ANSWET MCIs an moormect mswer of mone than
one Ankwers for sov question.

7. Each question has five options marked as 1, 2, 3, 4, 5 You have o
darken only one circle (bubble) indicuting the correct answer on the
Answer Sheet using BLUE BALL POINT PEN.

B I you are oot sftempting o gquestion, then you have to darkens the
cirele *5°, 1M none of the five circles is darkoned, one third (173) part of
the marcks of question shall be deducted.

9% Alter solving the question paper, cundidate must sseerisin that hefshe
has darkened ooe of the circles (bubbles) Tor each of the guestivne.
Extra time of 10 minutes heyond scheduled thme is provided for this.

11, A candidate who has not darkened any of the five circles in more than
10% questions shall be disgualificd.

Il I there s any son of ambigeity/mistake either of prnting or ool
st then out of Hindi and English Version of the questhon, the English
Verion will be treuted as standond.

12 Mobile Phone or any othet electroiic gidget in the examination hall is
sirictly prohibited. A candidate found with any of such ohjectionable
material with himdher will be stictly dieali as per ules

Warning : If a candidase s found copying or il any unauthorized mmerial is
fomnd i hisfer possession, FLE. would be fndped agminst him'her in the
Police Station and hefdthe would lioble 10 be prosccuted under Rajasthon
PFublic Examination (Measures for Prevention of Unfalr means in
Becruitment) Act, 2022, other law applicable amd Commission's
Regulntions, Commizsion muy aleo dobar himber permaicntly from all e
éxaminminns,

] -

.

aeR-vEE § 37 vl @ - e o o wde iRy wden sl W ooden ow oies 9 gl oiend ae-ass o ST witl diee @ s,
wfiamed] v wrd= wfiy s ol wed | e wee—gam 8 e Uit w1 A O T w6, ENE Ul W ge i W e e 8 ey werfigls
sram w whenedt w1 W Al oheedl s ww @ ol il 8 eve-was @ ol oy e afisa of @9 oe el el ol o
FRTT G /T O Y R e gt

36- M Page 1 of 32




Which one of the following is an example of 1-

(2) Functional Cultural Area
recorded more than 30% decadal growth rate of

similarities in the culture of Naga and Santhal
(3) Cultural Ecology

(4) Formal Cultural Area

population in Rajasthan?

(1) 2 (2) 4

tribe/Races?

(1) Cultural Diffusion @
"

(5) Question not attempted

According to Census 2011, how many districts 2

(3) 3 (4) 5

(5) Question not attempted

Mention the inconsistencies (Local Name- 3
Country) related to the shifting agriculture -

(1) Tayy — Malagasy  (2) Konuko — Maxico

(3) Ray - Laos (4) Djuma — Sumatra

(5) Question not attempted E
"Industrial Geography is the study of thE™14,

distribution of manufacturing industries.” The
above definition of Industrial Geography was
given by which of the following scholar?

(1) MacDonald (2) R.C. Riley

(3) Evans (4) H.R. Jarret

(5) Question not attempted

Which one of the following is not a type of 5
agglomerated or compact rural settlement?

(1) Composite settlement

(2) Fragmented settlement

(3) Compact or Clustered settlement

(4) Isolated settlement

(5) Question not attempted

Which one of the following is not a quan{itﬂ 6.
method of the regional delineation? 1

(1) Graph Theory Method

(2) Thiessen Polygons Method

(3) Map Superimposition Method

(4) Discriminant Analysis Method

(5) Question not attempted

Fefeaflae & § S Arm a2 were gl
B WEPIT H AT B @1 UF Sareee 87
(1) wesfy wor

(2) faftre el &

(3) wiepfors ariRferfe

(4) | HEpia &3

(5) srgafed we ‘

SIETTOTAT 2011 @ SER, oy # feae faat
H 30% 9 At SEEE @ gue ghg SR
ol B! 7

(12 (2) 4
(33 (4) 5
(5) argeiRa WA

WFARIEE F @ (R am - <) 9
HHRIa AT gaed —

(M) 7t — wrarmt (2) weer — AfFes
(3) ¥ — =i (4) SpT — AT
(5) srgeilRa w1

“fafemior se & fawe o1 serE 8 st

T &7 sienfie qpie @ 9w ofumn
freafofea 4 @ fvg g g/ 9 =h 07
(1) FFmsries (2) s =

(3) garg (4) TR, SNE

(8) argaifta WA

fr=fefes & & s e v aftew @
wﬁﬁmwa{mﬁmwwqﬁﬁ

(1) wgaw sfoary

(2) srqwfen st

(3) e A g aifarw

(4) wepTes! SrferarH

(5) srgwfta e

Fefafaa ¥ 9 #199 e wefe dwmies #
HEATH® fafer =81 87

(1) mw g fafer

(2) forem agye faf

(3) wrfera sEaRMor AR

(4) faftrear—vey= fReemo R

(8) s W
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Match List-1 with List-I1 and select the correct
answer -
List-1

(A) Unbalanced Growth Theories
(B) Theories of Social Technical Dualism
(C) Big Push Theory e
(D) Critical Minimum Effort Theory

List-I1
(i) Rosenstein - Rodan
(it) Leibenstien
(1i1) Singer - Kindleberger
(iv) Boeke - Higgins
Code -
(1) (A) = (iv). (B) = (iii). (C) = (ii), (D) = (i)

(2) (A) (i), (B) - (iii), (C) — (i), (D) — (iv)
(3) (A) - (i), (B) = (ii), (C) = (iii), (D) = (iv)
(4) (A) - (iii), (B) = (iv), (C) = (i), (D) = (ii)
(5) Question not attempted

Which one of the following is not Beau;ﬂ

Gamnier's main aspects of geographic analysis of

population?

(1) The distribution of people on the globe.

(2) The geographic analysis of population
phenomena.

(3) The evolution of human societies.

(4) The degree of success which they have
achieved.

(5) Question not attempted

Which one of the following is not mainly
categorised in settlement geography regarding
rural morphology?

(1) Social Morphology

(2) Physical Morphology
(3) Political Morphology
(4) Functional Morphology

(5) Question not attempted

-1 B -1 & rer Al P o w8
g wifor —

g4 -1
(A) sr=gfora e wise
(B) ArETfoTeh Ud ddeidl Hisd
(C) g8= sam| Rigr=
(D) TR wEaH I g

@ -1
(i) TS
(ii) ST
(iii) R — frsaaix
(iv) @ — fBfia
@ - =
(1) (A) = (iv). (B) — (iii), (C) — (ii), (D) — (i)
(2) (A)— (i), (B) = (iii), (C) = (i), (D) = (iv)
(3) (A) - (i), (B) = (i), (C) = (iii), (D) — (iv)
(4) (A) - (iii), (B) — (iv), (C) — (i), (D) — (ii)
(8) arqeifta we
fFrfaflag 4 @ F9w v gagEr & dmfae
faweror @1 ey MR 1 9@ v T 20
(1) fareg # st &1 e
(2) Seeiven wear &1 dimfes e
(3) Hra el @1 AP |

(4) == 59 WR & T wra @ # |

(5) argmRe e

sfear ia & Iria ur IR & He
# g w9 | frfafes 4 9% $99 @ 3 4
iipa & faar wa &7

(1) wrEifore s

(2) +itfeve smatfas

(3) wroifers st

(8) FraieTd @G

(5) sl e
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10.

A-D
M=—
0

The above formula was created by which of the
following scholar to express the optimum

_ A-0

]
LR e G A s A A A
HAGATH FAHE BT LTH BT D o1 a1

population? AT or?

(1) Malthus (2) Dalton E (1) wreere (2) Trees
(3) Thomson (4) Trewartha bl (3) oiHEA (4) Zar
(5) Question not attempted (5) argei¥er s

1. In the year 1949, the Thiessen Polygon Method 11- @4 1949 %, wgaa w0 3R & 67......®

was used by Bogue .for delimitation of afesdies @ fog ary 9 BeE agye R @
[ s in the United States of America. SqAnT T o)
(1) Metropolitan (2) Agricultural () ey o () PR
territories iR
(3) Geographical (4) Industrial ::: e (4) shenfirs
(5) Question not attempted AL
12. Match List-I with List-II and select the correct 2. 37dl-1 &1 -1 9 gafera Do o1 #El SR
answer using code given below - @ 999 A Rl He ¥ A - '
List -1 A -1
+(Scholar) (ﬁﬁﬁ]
(A) Alfred Weber (A) 3PS FaR
(B) E.M. Hoover . (B)E1. &R
(C) August Lisch E (C) 3ifTee S
(D) Tord Palander (D) 77 13
List - 11 -1
(Theories of Industrial Location) (e Rufy f

(i) The Location of Economic Activity — 1948

(i) Beitriige zur Standortstheorie — 1935 .
(iii) Uber den Standort der Industrie — 1909 (ii) Fgw SR WS HRERN — 1935

(iv) Dil raumliche Ordnung der Wirtschaft — (iii) FaY S WS S¥ gl — 1909
1939 (iv) fae e s+ ev fidme — 1939
Code - HeE —
(1) (A) = (iv), (B) — (iii), (C) — (i), (D)= (i) (1) (A) = (iv), (B) = (ii1), (C) = (11), (D) - (1)
(2) (A) = (i), (B) = (i), (C) = (iii), (D) —(iv) (2} (A) —(ii), (B) = (i), (C) = (iii}, (D) = (iv)
(3) (A)—(iii), (B)—(iv). (C) = (ii). (D)= (1) (3) (A) = (inr). (B) = (iv), (C) = (i1), (D) = (1)
(4) (A) - (iii), (B) = (i), (C) = (iv), (D) = (i1) (4) (A) = (ii1), (B) = (i), (C) = (iv), (D) — (ii)
(5) Question not attempted (5) srgmiRe ue=
13. Market based ideology was not referred to @E araR s RreEmaw Prafafe 3 | fra
.

fAEm gm wfomfEs =& @ 75 &4

(i) anfeie wfafafr @ Rufd — 1048

which of the following scholar?

(1) Tord Palander (2) Frank A. Fetter (1) 218 Tevex 2) b T HEw
(3) Schiiffle (4) Walter Isard (3) srpe (4) ATeey TATE
(5) Question not attempted (5) srpaRa we
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14. Match List-T with List-11 - 14 w1l 91 -1 4 gafea S —
List-1 List-I1 -1 -1
(Vegetation) (Type of Wood) (@ ToR) (Us /3%)
(A) Tropical evergreen (i) Pine (A) SuTHfead FEWER (i) TEA
(B) i{;: forests (ii) Shisham 4 Y i
; : (B) o9& A (i) ¥irem
:([:):; gﬂ?ﬂﬂﬂiﬂm :il:l}}iﬁgss [centu:yn“ © . .W 5% [‘ﬁ” wa
forests plant) {D}Wa‘f HE— (iv) ITHaH

Code - = -
(1) (A)-(i). (B)-(iii), (C)-(iv), (D)~(ii) (1) (A)-(i). (B)-(iii), (C)-{iv), (D)-(ii)
(2) (A)-=(ii), (B)-(iv), (C)~(i). (D)-(iii) (2) (A)-~(i1), (B)-(iv), (C)-(1). (D)-(iii)
(3) (A)-(iii), (B)-(i), (C)-(ii), (D)=(iv) (3) (A)-(iii), (B)-(i). (C)-(ii), (D)-(iv)
(4) (A)-(iv), (B)-(ii), (C)-(ii1), (D)-(i) (8) (A)=(iv), (B)-(ii), (C)-(iii), (D)-(i)
(5) Question not attempted (5) srefie we

15. Which one of the following (Country - Industrial 15, f=fafaa & & o9 w (Gw - senfe
Region) is not correctly matched? yaw) yaferd 78l 27
(1) Japan - Kita — Kyushu - (1) S — P — YT
(2) China — Canton — Hong Kong E (2) Fr — dves — BfFTEHET
(3) France — Lorraine — Luxembourg (@) g — =i — FvoEat
(8) Brazil - Southern Transvaal e S
(5) Question not attempted (5) st e

16. In initial stage of Green Revolution, whichof the 18- &R wifva & unfwe awor 4, Fr=fafes # @
following crop have not been introduced? B BE B TfEe F8 G v en?
(1) Maize (2) Bajra (1) HapT (2) Fra
(3) Sericulture (4) Millet (3) Yore (8) #r2 T
(5) Question not attempted (5) aree we

17. According to World Population Data— 2021, the 17 f@va S 21 — 2021 & awwR, Fr=faiaa
most densely populated country among 5 ¥ 9 waiits waden uae ge 2 —
following is - H (1) wree (@) wifEe
(1) India (2) Pakistan (@) TSR @ ety
(3) Indonesia (4) Bangladesh e
(5) Question not attempted
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18.  Consider the following statements and select the

18,

21.

correct answer using code given below -

(A) The transport costs per unit varies with the
increase in traffic.

(B) The transport costs are also proportional té
distance.

(C) All transport operation also give rise o

terminal costs.
Code -
(1) A and B are correct
(2) A, B and C are correct
(3) B and C are correct
(4) Only B is correct
(5) Question not attempted
A rural settlement situated around a lake is
called -
(1) Rectangular pattern (2) Circular pattern
(3) Nucleated pattern  (4) Star pattern
(5) Question not attempted

The group with similar blood type known in thc 20.

Bedouin tribe is - .
(1) Samullah {(2) Clan e
(3) Federation (4) Anejia

(5) Question not attempted

Who has used the word “Agrarian Geography”,
in place of Agricultural Geography?

(1) P. George (2) Faucher

(3) Bernhard (4) Hettner

(5) Question not attempted |

According to Alfred Weber, what is the comrect
formula for 'Labour Cost Index'?

(1) Labour Cost Index = Total Weight of Raw
Material/Labour Cost

(2) Labour Cost Index = Labour Cost/Total

Weight of Product
(3) Labour Cost Index = Total Weight E
Product/Labour Cost sl
(4) Labour Cost Index = Labour Cost/Total
Weight of Raw Material

(5) Question not attempted

Frafefea suat @ fear it aor 98 o

F1 709 4 32 7 | Ffow —

(A) ufy g wRaes arm 2w o ofg @
ury gRafda s 2

(B) "Raes &mma g9 9 suifas &t §)

(C) it ufRaes Tare=1 09 @ITa (Terminal
Costs) 9 afg #va &

@_

(1) A3 Bwd

(2) A, B 3R C 5

(3) B siv C w1

(4) Had B W&

(5) sreilva e

. el S B e T T e 3 wEd

2 _
(1) sraer wfowuy  (2) geeR ufawy

(3) v ufrsy (@) awr wioey
(5) arpala wea
4g WA ¥ UFH WA Ya alell WE & —
(1) wHeTE (2) wdren
(3) #ETHH (4) aiforn
(5) argeRa we
- Frefafa s 43 9 e 3 e @ W
W, "CUREE P wes @ s e
(1) &1, St (2) wra=w
(3) w+fare (4) Fem
(8) arpiRe we

ISHE dW & IER, mmwiﬁ

fem w& g3 @ &7

M s wra gueie = @ 9@ B oG
AR/ FH ST

@) s s YEwiE = H9 T / SEkd Iw)
&1 Bl AR

®) 3w Gr Eer = Al g @1 F7
HN /A0 AT

@) s s GEwiE = W aE /T A
FT B TN

(5) araiRa weA

-
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23. Suatements about Indira Gandhi Canal Project 23

are true, among the following =

(A) Origin of this canal is from Harike b
situated in Punjab. E

(B) Length of Indira Gandhi feeder canal in
Punjab and Haryana is 170 km.

(C) Length of Indira Gandhi feeder canal in
Rajasthan is 34 km.

{D)The Project has been envisaged for utilization
of 7.59 MAF water out of Rajasthan’s share
in surplus water of Ravi-Beas rivers.

{1} Only (A), (B) and (C) are correct

(2) Only (A), (C) and (D) are correct

gfawr el Tex o & AR § e sue

wey #7

(A) 30 -TEr &1 997 o ¥ Rud 2R aww
GRGIE

(B) wama ud sRamom ¥ v wif P T8
o1 oarg 170 ff, &)

(C) Toreers | gfaw Tl sy T8 9 @4
34 fs A &)

(D) 9 g & uReerr wdt—ama Ak
& Ay oo § o & fRe H 9
7.59 THUUE. 5Tl @ SUANT & e @ g
2l

(1) Bgat (A), (B) TF (C) wET &

(2) Baa (A), (C) TF (D) W &

(3) Only (A) and (C) are correct (3) @ad (A) TF (C) 9d &
(4) All are correct EE (4) w7 Wt &
(5) Question not attempted . (5) argeriRer e

24. As per Annual Report 2022-23, the state of the 24 @i RO 2022-23 & IER, Haife Hedt
highest cumulative solar energy capacity is - W ol epmar wog H o o & -
(1) Gujarat (2) Karnataka (1) ToTd (2) &e®
(3) Tamil Nadu (4) Rajasthan (3) Erf#a:ng (4) Iror==Ir
(5) Question not attempted (5) s wed

25. Who was the author of the book ‘An Agricultural  25. 59 1971 ¥ weif¥ia gwas we s &1 ol
Geography of Great Britain” published in 19717 WA & og® B 47

- (1) L.D. Stamp (2) 1.T. Coppock (1) Ta g = (2) 5.8 B

(3) C.F. Jones (4) L.G. Reeds (3) W, S (4) va . frew
(5) Question not attempted (8) argaRa e

26. As per Von-Thunen, the profit of farmer is @9 a1 2a & g & 9uR, 99 @1 A
affected by which of the following variable? =3 fafafan 4 W &9 fAgas @ wafda =8 gm
(1) Selling Price (2) Expense of &7

Production (1) fama 7= (2) I=ares @ AT

(3) Transport Cost (4) Labour Cost () e e (4) 5177 =TT
(5) Question not attempted (5) s we
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27. Maich List-1 with List-I1I - 27. i1 &1 gA-11 W galem Fitm -
List-1 List-11 A1 -1
(Railway Zones) (Headquarters) : R o) (FpeaTera)
(A) South-Eastern Railways (i) Jabalpur A ()7 g (i) TaAYR
(B) North-Western Railways (i) Jaipur (@)% 9. %o (ii) SR
(C) West-Central R;ﬁlway:_e (iii) Kolkata (&) 9. 7ex Yo (iii) BT
(D) South-Central Railways  (iv) Sikandrabad (€)= W Yo TR
Code -
(1) (A)-{iv), (B)-(iii), (C)-(i), (D)~(ii) () (@0)-(iv), (@)-Giih), )-G0), (&)-Gii)
(2) (A)-(ii), (B)-(iv), (C)-(iid), (D)-(i) (2) (31)-ii). (@)-(iv), (@)-(iii), (&)-0)
(3) (A)-(iid). (B)-(ii), (C)-(1), (D)-(iv) (3 (31)-Giii), (@)-(ii), ()-(0), (&)-(iv)
(@) (A)-Gi). (B)-{ii), (C)-(iv), (D)) @ (@)-G), @)-(i), (8)-v), (&)-Gii)
(5) Question not attempted ®rag i
28. Which are the following scholars used statistical 28. 2041 wrare @& #en # fy=fafEag # 9 @A
methods in agricultural regionalisation in the fagm1 = oY wefrevor § wifterag [T &
middle of the 20" Century? I far?
(1) Strabo, Caesar, Pliny ;-H (1) way, row, i
(2) Birch, Weaves, Helburn 3 el (2) 79 fav e
(3) Young, Schweng. Engelbrecht @) 7, S weee
(4) Humboldt, Von Thunen, Krzymowski ) wwiee, A o, BivmaER
(5) Question not attempted (5) srgefa weA
28. When 'General Agreement on Tariff and Trade -29- 'WY[H U4 =MR W AW awsiear (ie) @
(GATT)' was established? YT P gy o
(1) 1947 (2) 1944 (1) 1947 (2) 1944
(3) 1942 (4) 1938 (3) 1942 (4) 1938
(5) Question not attempted (5) srgeifRer wos
30. Which method was used by L.P. Green to 30 ¥g®m 59 & W@ U1 dves AN @
demarcate the City Regions of New York and TR-yeE & dWied © ol vad dW o9
Boston cities of the United States? w4l AR &1 ganr Far a7
(1) Linear (2) Graph method (1) vy @ g% faf
(3) Qualitative (4) Quantitative (3) e (4) HrTeE
(5) Question not attempted E (8) arpeiRa e
31. Who among the following scholar used the term, » "84 Ff% wgeli & fRwmm § F=fofag 4 & ey
“Life Zone and Death Zone”, in the classification fagm | “oias wew U9 g yosl, W& B
of Agricultural regions? TR e 27
(1) Jonasson (2) Thornthwaite (1) ST (2) eifvierae
(3) Baker (4) Huntington (3) FFw (4) EfFTes
(5) Question not attempted (5) argefa e
36 - Page 8 of 32



32. “Major Agricultural Regions of the Earth” given

by D, Whittlesey in 1936 was published in which

of the following?

(1) Journal of International Agriculture

(2) Annals of Association of American
Geographers

(3) The Geography of Economic Activity

(4) The Geographer

(5) Question not attempled

of Tran?

(1) Gulkhari (2) Rumaila
(3) Naft (4) Haftkel
(5) Question not attempted

“Cultural Region™ for the first time?
(1) Spencer (2) Dickinson
(3) Crober (4) Whisler
(5) Question not attempted

Kerala?

(1) Peaty and Marshy (2) Black Soil
Soil

(3) Red Soil (4) Laterite Soil

(5) Question not attempted

- Match the following Column-I with Column-IT -

Column-I Column-I1

{A) Polynesian Cultural (i) Marshal Island
Realm

(B) Micronesian Cultural (ii) Hawai Island
Realm

(C) Melanesian Cultural (ii1) Fiji Island
Realm

Code -

(1) (A)-(iii), (B)-(ii), (C)-(i)
(2) (A)-(i), (B)-(ii), (C)-(ii1)
(3) (A)-(ii), (B)~(i), (C)~(iii)
(4) (A)-(iii), (B)-(i), (C)-(ii)
(5) Question not attempted

32.

i
- Which of the following is not a mineral oil field 33

. Among the following, which scholar mentioned ~ 34-

. Which of the following soil is named *Kari’ in 35

ke

=
J

36.

d) feesd®t g 1936 # R4 “Major

Agricultural Regions of the Earth” &1 W&

frafafiaa # & fared gan?

(1) @ 3iTF FUevIgMa Tidhey

(2 varew o gEIGQEE S IpiR@EH
SOTITEH

(8) & ST i FEEIfE vl

(4) T SITHY

(5) s west

Fre 3 9 F9w 3vM &1 @ de &F T8

a7

(1) @@ (2) whem
(3) Ao (4) gvcddol
(6) sreer W

“wiwpae wEnr &1 wdwew Frafafea F 9
frg fagm = Soorg 5 an?

(1) @3 (2) fefr=am
(3) wraw (4) fawem
(5) @geie e

Rrefore & & e 521 @1 e # T D
AH | S AT 87

(1) §re vd Teree w1 (2 T §al

(3) et Ha1 (4) cicvge Ha

(5) argeilRe we

gofera e ®ied -1 F Hiew-11 1 —
PieH-1 Fic-I1

(A) T wepf (i) e #
afuea

(B) e wegfa (i) 84T &M
BIECLET

(C) FWIENA i (i) fossh d
gftHvEe

ﬂ;g_

(1) (A)-(iii), (B)-(ii). (C)-(i)
(2) (A)-(i), (B)-(ii), (C)-(iii)
(3) (A)-(ii), (B)-(i), (C)-(iii)
(4) (A)-(iii), (B)-(i), (C)-(ii)

(5) st wee
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37. Which of the following cultural region is not 37 f1 # & F=ar afsfie By SoR—uf¥=m
included in the North-Western European circle? i ufmves # witnfer 78 &7
(1) Italian region (2) Low region (1) geeit wey (2) =1 weTr
(3) German region (4) French region (3) 1wy (4) e T
(5) Question not attempted (5) areifta o
38. “Membership in casts is hereditary.” Theﬁ BT T < 2 £ 1 5 e - R 2
statement referred by - : Haffa frar & —
(1) Risley (2) Blunt (1) s (2) &=fe
(3) Nimkoff (4) Lundberg (3) Fpeis (@) gsat
(3) Question not attempted (5) FrgeRa we
39. "The movement of people between two cities is 38 ST TR & d/™ # @Y &1 smarmE 99
proportional to their population and inversely ST & TUIE 6T I oo 99 TR
proportional to the square of the distance & 9= P T Tt & Wﬂm’ﬁ'{ AT &, us
between their cities”, this statements is - TYT B —
(1) Reilly (2) Ravenstein (1) Jh (2) o=
(3) Stouffer (4) Walpert (3) ¥ty (4) aread
(3) Question not attempted (5) I we
40. Which of the following human factors is not a  40. 9= 3 ¥ @87 AT TR AREDD @G0
hindrance in the diffusion of culture? # HEES Tl 87
(1) Ethnic narrow (2) Ignorance (1) g watar (2) =T
(3) Religious (4) Education (3) enfifes Feva (4) famen
Prejudiceness . e
(5) Question not attempted " Wi
41. According to Notestein and Thomson, how ; AR SR ATHE B IR, S WA
many stages of population transition are there? @1 flbae sraveng &7
(1) 5 (2) 3 (1) 5 (23
(3) 4 (4) 6 (34 4) 6
(5) Question not attempted (5) ;;@aﬁa U9
42. Which one of the following method applied for 42. fFy=fefeg % 51 el Y Foiew @By &
delineation of the ‘Functional Region’? HHie # ggad @) SR 87
(1) Breaking Method  (2) Polygon Method (1) afFT AR (2) agqa R
(3) Flow Analysis (4) Chi-Square Method (3) wyare favemor (4) FE—at Ay
(5) Question not attempted (5) arpeie W
43. Assertion (A) : Nomadic herding of animals is  43. T2 (A) : Foami! TeUTer qUHT gffar & @t
limited to the people of the ancient times. o & difEa 21
Reason (R) : Nomadic pastoralism takes places @O (R) : gaard i uTe ®
in temperate grasslands. el § s 2
(1) Both (A) and (R) are true but (R) does not (1) (A) 3% (R) T |8 g (R), (A) T =&
explain (A) v T e P
(2) (A) is true but (R) is false Eili (2) (A) g 2 fiF (R) oraeg &
(3) Both (A) and (R) are true and (R) explains - (3) (A) 3R (R) 2 & (R), (A) 1 W& zmen
(A) P &
(4) (A) is false but (R) is true
(5) Question not attempted @) (A) 31 & g (R) §d &
(5) argaRe e
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44. Who is the author of the book “Principles of # "wrnfaes wame @ fagra’ (Biftoew &

Social Geography” (Principles de Geographic
Sociale)?

(1) Reclus (2) Gillin

(3) Brayan (4) Claval

(5) Question not attempted

o LY

Tt wifierel) woe & dwe B 8Y

(1) Y@ery (2) ffem
(3) gra= (4) Fermas
(5) argarfte wee

45. Who among the following determined A% B 3 9 1784 % frem Wy v AR A
boundaries of the United States on the basis o drnat &1 P safade s = fear ar?
geometry in 17842 (1) gorRtey Aefis (2 dwred
(1) Alexander Malamid (2) Lapradelle (3) aifsrer Srpvas (@) g fre
(3) Thomas Jefferson  (4) Hans Weigent (8) argeRe we
(5) Question not attempted

46. Choose the incorrect match (Conservation 96. Frfifira (ERfEm & — fovel (quree) & & wara
Reserve - Districts (old)) of the following - g &1 999 Hford —

(1) Jod Beed - Bikaner (1) e g — freEn

(2) Gudha Vishnoiyan - Jodhpur (2) 751 RTETE — SR
(3) Rotu - Sikar, Jhunjhunu (@) Az — Waw, T

(4} Sundha Mata - Jalore, Sirohi i (&) e — e, R
(5) Question not attempted W (5) R e

47. Which of the following is not one of the types of ~ 47- gnvEive g1 #1 Th wWPls wawwr 3
Expansion Diffusion under Hagerstamnd’s AT & =g A sy & ueni #
explanation of Cultural Diffusion? frfefam & ¥ @9 6 yar T8 87
(1) Relocation Diffusion (1) gsfafafy wawwr
(2) Hierarchial Diffusion (2) T T
(3) Contagious Diffusion 8) wiwhfe o
(4) Stimufus Diffusion PR e —

(5) Question not attempted (8) srRe v

48. Who proposed the system approach in regional 48 yRfrs Faw= # o= Surm s R ar
planning? | R (2) freerer
(1) Chadwick (2) Christaller D @) (4) fre
(3) Ralley (4) Leontief (8) s T
(5) Question not attempted

36-M Page 11 of 32




49. Krishak Uphaar Yojna commenced in 49 TSR # $9F TUER A1 Hd WA §57
Rajasthan - (1) Srad, 2020 (2) wrad, 2022
(1) January, 2020 (2) January, 2022 @) = 2021 (4) TR 2021
(3) March, 2021 (4) November, 2021 b o
(5) Question not attempted ©) &g e
80. Who has said that, “Agriculture Geography is S0, .f&w fagm =1 @e1 f&. "Ff i &1 P RAwm
both Agriculture Science and Geography™? E’ﬁﬁ W 2 o A &9
(1) Kostrowicki (2) Symons ) wHIREIRA! (2) 1894
(3) Bernhard (4) Faucher (3) gHErd (4) wraER
(5) Question not attempted (8) areRa W
51. What is the fact mentioned in the book titled "Dil  51. 3ffRe &9 @ "Dil riumliche Ordnung der
riumliche Ordnung der Wirtschaft" of August Wirtschaft” A& [&e § Selm ¥ weEiad
Lésch? e a2 o1 I 27
(1) Transportation cost related in industries (1) S & oftess o o=l
(2) Increase in production cost in industries (2) St & Seqres orTd A
(3) Based on location of industries (3) Tt # Rufy ww=h
(4) Related to raw material in industries (@) T & T we g
(5) Question not attempted (5) argaRa we
52. Who has used the situational advantage method 52 H¥e Ar=al sa & 8g Tl afdg (A &
to find crop concentration? v fae faar 87
(1) Ricardo (2) Florence (1) Rreprst (2) vein=g
(3) S.S. l?:har.ia (4) Baker waq @) TETE, Afear (4) g
(5) Question not attempted B) argaRa yeA
53. Match List-1 with List-II and choose the correct Td-1 1 A1l & gafera Fiferd wer A R
answer from the code given below - T He W |§ "a I 9 -
List-I List-1I qA-11
(Power Resource)  (Site) ) ()
{A) Petroleum (i) Donbas (A) Ugiferas (i) STETH
(B) Hydroelectricity (ii) Dammam (B) Ser—feera (ii) T
(C) Coal (iii) Niagara (C) Fraa (iii) FPramam
(D) Atomic Energy (iv) Beaverlodge :
Code - S; 'iwﬂ FHal  (iv) daver
" o e o g
) (&), () i, )~ i) (D)~ (1) ) (A)= ), @) — i, €)~ G, (D)~ i)
(2) (A) - (ii), (B) - (iii), (C) - (i), (D) - (iv) iy ; "
4 g g et : (3) (A) ~ (iii), (B) — (ii), (C) - (i), (D) - (iv)
(4) (A) - (i), (B) = (ii), (C) = (iii), (D) - (iv) . . :
{5] Ql.lﬂsﬁun not Ettﬂmplﬂd {‘} (A} i (1}' fB} = (H-’. [C] =t [1“]- (D} e (I\'}
(8) St W
4. Which one of the following part of Gujarat state 54 T[oR1e Wy &1 Frafafad & & @ 917 9=
has very high damage risk seismic (MSK IX) oy veftm fasmer SifRaw @ 8 (MSK IX) & #7
zone? : E.i:m gt o (2) v
(1) Eastern Gu_;af'al (2) Saurastra (3) <fh TR @) T BT T
(3) Southern Gujarat  (4) Rann of Kutch
: (5) gafta weA
(5) Question not attempted
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55. Match List-1 and List-II and give the correct 55 i1 @1 &I-11 &1 Gafor & He &1 GEraml

answer with the help of the code - W HEl I8 aihe —
List-1 List-11 -1 wE-I1
(Geographer) (Country) G IGERD! (=)
(a) Rudolf Kjellin (i) Iil;ilﬁfi States of (a) WEle® duiferd (i) Hgad UG PR
IS b) &I BTeNEHY (ii) I faeq
(b) Karl Haushofer (i) Great Britain v :c:ﬂw [::}w
(c) Mackinder (iii) Sweden (d) TTZFH (iv) SR
(d) Spykman (iv) Germany . e —
Code -

tﬁ (a)-(iii), (b)=(iv), (c)-(ii), (d)-(i)

() @)-{iiD), (B)-(iv), (c)-(i), (D (2) (a)-(ii), (b)-(iit), ()-(iv), (d)-(i)

(2) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

. ” : (3) (a)-(i), (b)-Gi), (c)-(iii), (d)-(iv)
3 @40, b)), €)-4ii), (@)-(v) (8) (a)-(iii), (b)-(iv), (©)-(0). (d)-(ii)
(4) (a)-(iii), (b)-(iv), (c)-(1), (d)~(ii) e
(5) Question not attempted IR 7
56. Spencer and Thomas divided the world 56 W=y v ofmw 4 @Ol fIva &
into........cultural world. Hiwpits qrsdl 7 G far €1
(1 03 (2) 13 (1) 03 (2) 13
(3) 11 (4) 20 (3 11 (4) 20
(5) Question not attempted (5) arfeiRe weA
57. Identify the correct group of peaks of Himalaya 57. f&wrem & eifeg] & w@! wqg &1 ggam S
which is located in India? 1 A H Rerg €7
(1) Kamet, Nanda Devi and Dhaulagiri (1) we, a1 4t ud et
(2) Makalu, Kamet and Nanda Devi (2) #ehlef, FTHE Ud a1 A
(3) Kamet, Nanda Devi and Nanga Parbat L (3) BTie, Ser 2 vd ST udd
(4) Makalu, Dhaulagiri and Nanga Parbat W (4) wpre, et vd S uda
(5) Question not attempied ) SRR W
58. Bargi and Tandula Canal Project is located in - 58 arwwft vd wrvgen w1ev ulRdiorn smfe & —
(1) Rajasthan (2) Karnataka (1) wrsrepT= (2) FrteH
(3) Gujarat (4) Chhattisgarh/M.P. (3) o (4) BT / AW
(5) Question not attempted (5) FaRa W :
59. Which one pair of the following (Type of Soil - 38 s # 9 St W (Ja1 vor — foen)
District) is correctly matched? hfera 27
(1) Verti Soil - Dausa (1) 7t ifge — <R
(2) Insepti Soil - Jhalawar (2) 379« wied — HAES
(3) Alfi Soil - Jaisalmer (3) 3w SitEd — AR
(4) Enti Soil - Banswara (4) qué'[ qﬁgﬂ iy ﬁm
(5) Question not attempted (5) sreRer e
60. The Gould's model of Transport Developmentis  80- wmgwew gw fwfaa uRess dfew W@ @
known as - g -
(1) Spatial Exploration Model apen () wifae @ died
(2) Mercantile Model ' - (2) speEd Hige
(3) Metropolitan Model B (3w e
(5) Question not attempted (5) iR W
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61. The concept of “Moshav Ovdim Region” is 61 "Hiuma shafew wder & Hoewm &1 was

related to which country? e g9 9 87
(1) China (2) Israel (1) $+ . (2) gorRIEd
(3) Indonesia (4) Sudan (3) svErfrar (4) e
(5) Question not attempted (5) arperiver wee
62. Who considered the boundaries as “Political 62 fwm Wil &1 o ifae R Yl &
Isobar Lines™? E‘i HHE AT 27
(1) Moodie - (2) Lord Curzon IR <) (2) dfE @i
(3) Ancel (4) Ratzel (3) v=He (4) Yewie
(5) Question not attempted (5) argeie wee
63. In what context did Mackinder use the term 63. #%sv 91 fAvadiu g v W= & wam fem
world Island? o
(1) With reference to the Rimland
(2) In reference to the entire earth (1) Roeivs & wwaet
(3) With reference to the outer second semi- (2) Fogol ged) & Wl W
circular circle
(4) With reference to the inner boundary semi- ) ) A o€ R A R
circle (8) ar=iRes AmmEdl sEga & wwed A
(5) Question not attempted (8) s we

64. The famous study ‘Crop Combination Regions 64 uf¥tg s ‘wem uf¥em yod . # v waTorH
in the Middle West, U.S.A." (1954) carried out yewr (1954) fA=feifaa & 9@ fss Tﬁ’a’ﬂ‘ﬂ'{
by which Geographer from the following? ags g fasar T oen?

(1) E.O. Heady (2) 1.C. Weaver B (1) gan &5 (2) S, drav
(3) K. Doi (4) P.R. Gould @3) &, =x @) 4 3 TrEeE
(5) Question not attempted (5) srpaRe we
65. Who among the following used the word “Urban 5. 7% Qur=1" wieg &1 wawe™ wam = 4 &
Fringe™ for the first time? fpa e ar?
(1) Dickinson (2) Keeble (1) fefr=r (2) Frad
(3) Andrews (4) T.L. Smith 3) tggw (4) & va. feay
(5) Question not attempted (5) rgafa wea
66. India adopted the Harrod - Domar Growth 66. wwm # fw vaedfy =@ 4 29 - =ww
Maodel in which Five Year Plan? e diga &1 srg=ET T4
(M (2 1v = Mn ' (2 1v
@ m @1 B @m @ 1
(5) Question not attempted (5) srpeia we
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71.

Which one of the following economic activity is 87 f=foiaa 5 9 o vad was e anftie

related to ‘justice and management'? fobm & wrafd 27

(1) Tertiary Activities (1) gefras fam

(2) Quinary Activities (2) gam T

(3) Quaternary Activities (3) =rgef Fomarm

(4) Secondary Activities (8 Rdr B

(5) Question not attempted &lﬂ sreRe v

Which of the following (Industry - Location) is . Frefafaa 4 & S (Sunr — saferfy) a8
not correctly matched? HHfora =8 &7

(1) Cotton Textile - Ramnathpuram (1) Tt o — T

(2) Ship Building - Vishakhapattnam (2) s famtor — ﬁﬂm
(3) Petro-Chemical - Patiala (3) Ug—varae — ufearen

(4) Jute - Birlapur (4) — favemy

(5) Question not attempted (5) %ﬁ'ﬁ e

Which of the following (Rural development 9. f=ifeiffaa # 9 ®wn @wiv e sdwy —
Programme - Year of Commencement) is not Spoare o) W) gt 8 27

matched correctly?

(1) National Social Assistance Programme - (1) srsftar wHIoT e HTwH - 1995
1995 (2) T oo AT - 1997

(2) Ganga Kalyan Yojana - 1997

(3) Training of Rural Youth for Self 1 (3) T T TR SR (75w - 1977
Employment (TRYSEM) - 1977 &W fafe= 9o @™ - 1988-89

(4) Million Wells Scheme - 1988-89 (8) araRa W

(5) Question not attempted
Rajasthan Government declared “Rajasthan 70 YRy WWaR gW uaiavfia aawgmil @

State Environmental Policy” for control and ERE IR I: E) G UG R G R S B G
suggestions on environmental problems in - Sifer & o @ 08—

(1) 2010 (2) 2008 (1) 2010 ¥ (2) 2008 #

(3) 2005 ®) 2012 © ®2005 % @) 2012 #

(3) Question not attempted (8) s B

In the Sector Theory propounded by Hoyet, 71. gwe gw1 ufiwifea fBea @ve fagra 4 g9
which segment does not border the Central Trade w|ug B [ Sd AR a3 (HAE) 9 A
Area (CBD)? ' I 87

(1) Lower-class housing segment (1) Pyt smarg v

(2) Middleclass housing segment ﬁ{z} FeETRT AT T

(3) Upper-class housing segment (3) Sy aare wWoe

{;J Whnl;;:sale trade segment (@) 9P TR GE
(5) Question not attempted ) a-lﬁ?rﬁ‘ﬁ o
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72. Which one of the following symbol has been 72 BRW #ElEd BN Wiga fd ™, s
used to denote “Resort and Retirement towns™ in e # “fasm vd s R & ol
the functional classification, as presented by f=feifas § 4 99 9haie IET HT 9T
Harris? B e
(s (2) p s 2 p
3D (4) X 3)D (4) X
(5) ion not attempted (8) st g

LES e of the following is a major industrial  73. F=fafed § 99 @9W S 9RG & W@
region of India? affenfie wawr &7
(1) North Bihar-Eastern(2) Indore-Ujjain (1) Ih farre—gdi(2) gER—aw

Uttar Pradesh TEY U9
{3) Kolkata-Hugali (4) Nagpur-Wardha (3) wramrE-gTAR (@) ARt
(5) Question not attempted ' (8) sree v

74. Which (Main Crop - State (Largest Producer)) is 74 ®F41 (@1 %9e — W90 (Waite 9@ce))
not a correct match? el YAfora 1 &7
(1) Jute - West Bengal (1) Spe — af¥ew &7
(2) Sugarcane - Uttar Pradesh (2) T — TEY g
(3) Groundnut - Odisha (3) et — aifewm
(4) Maize - Andhra Pradesh/Kamataka (4) W] — ATVEH / BT
(5) Question not attempted (5) Gﬁﬂﬁﬂ' e

75. Who was the first scholar to propound a 75- Wigfied Frp W amnRa ween faer
Po n Theory based on Natural Law? yfeafes &= a9l ugH ffE o9 97
(1) ; George (2) Herbert Spencer (1) &9 At (2) gdd |7
(3) Malthus (4) Ricardo (3) wreery (4) Rerst
(5} Question not attempted (5) arEifea we

76. The Industrial Location Theory by Edgar M. 75. USTR vo. ga¥ g1 fr wan sfrenfivas araferfe
Hoover is related to which school from the firgrg f=ferfas 4 o 5w e 9
following? HEte 27
(1) The Marginal Location School (1) Hr Refy farar
(2) The Least Cost Location School (2) ATH FRTE Ferereerma
(3) The Market Area School (3) qTAT SR AT
(4) The Transport Cost School () T e R
(5) Question not attempted g (5) srpeRe we

77. Which one of the following is not a 'K’ variable  77- Fr=fafem 9 & $9w @i & gRad@ K
of bj hy, according to Lésch? UGEH TE &7
"lﬁ @) K=9 MK=15 @K=9
(3) "=y @) K=19 B K=13 4 K=19
(5) Question not attempted (5) sl ue
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78. [dentify the book which is written by Spencer

and Thomas from the following -
(1) Introducing Culture Geography
(2) The Culture Map

(3) Culture : A New World History
(4) World Culture

(5) Question not attempted

78.

‘-ﬁi': L]
- Which one of the following district has rc:cmde:l i;

highest forest area, as per Administrative Report
2021-22 (Rajasthan)?

(1) Bundi (2) Baran

(3) Chittorgarh (4) Jhalawar

(5) Question not attempted

- Which one of the following (Industry - Location)

is not correctly matched?

(1) Rajasthan Electronics Corporation - Udaipur

(2) The Mewar Sugar Mills - Bhupalsagar

(3) Rajasthan Spinning & Weaving Mills -
Gulabpura

(4) Hi-tec Precision Glass Factory - Dholpur

(8) Question not attempted

model of, “Demonstration Effects and Vicio

- Which one of the following scholar gave thl atl

-

planning?
(1) Duesenberry-Nurkse - 1959
(2) Hilderbrand-Mess - 1950
(3) Walter Isard - 1960

(4) Barford - 1938

(5) Question not attempted

Which specific factor was used for planning
demarcation of territories in Russia?

(1) Business (2) Economic

(3) Cultural (4) Social

(5) Question not attempted

- Which one of the following states of India has

80.

82,

83.

the highest population density, as per lﬂlﬁ

Frefafaa & § W= va gy gr folta
&G &1 UEANY —

(1) siepfve e &1 o=y

(2) Hivpfa &1 wFfa=

(3) wwpfa - va 7oy fave gfoem

(@) fava weph

(5) areia e

wratE ROE wreRend 2021-22 % 3EER,
fr=fafaa 8 9 By e 4 vl 3 a3
yferfa 27

(1) g1 (2) g
(3) fareftene (4) srenmars
(8) srgaRa W

Frafafld § @ @ g (Sem — amftaf)
yafera e 8

(1) TrorerT elagiiay HRUNYH — IEUge

(2) & HEre IR e — qurEEr

(3) oo R ga i fiew — emEga
(4) erzcs e warw Bal — ey

(8) arg=iRe we=

s Famwa @ ged 4 e gae e

© gESg o¥ diea”, e fgm gw R
Circle Trap Model”, in the context of region . %

(1) Sg&ad vd a9 — 1959
(2) fecevass U9 39 — 1950
(3) areer gus — 1960

(4) aR®IE — 1938

(5) argaRe e

w9 # oo udel & dmiea q e g
FNE & Iuam fasar mar en?

(1) @R (2) anféfs

(3) wrgfirs (4) T

(8) sgerfeer wes

yRa & frefofaa wedl § 9 FEa I
TERETUAT 2011 & AR, FEE ARG ST

Census? e v &7
(1) West Bengal (2) Bihar (1) gf¥em gt (2) fazr
(3) Uttar Pradesh (4) Maharashtra (3) ST wam (4) FERTS
(5) Question not attempted (8) argeiRa W
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84. Who used the ‘Thiessen Polygon Method” for 84. Pyt wdsii & wmis arwlt Rrem qEA
demarcation of planning areas? fafer &1 gamr s fear a?

(1) P. Sengupta (2) FW. Green (1) . Fraqer (2) Trs= A
(3) B.JL. Berry (4) P. Haggett. (3) frorva, &9 (4) ¢ e
(5) Question not attempted (8) areRe W
BS. Average annual rainfall (cms) in Rajasthan in |%._W # 2022 % afrea aiffe aut (@A) &2
2022 is — (as per Data, Water Resource Deptt. — (Fa domE faar gerens & arffs agt
Raj. (Annual Rainfall)). )
(1) 79.11 (2) 77.31 (1) 79.11 (2) 77.31
() 51.13 (4) 66.14 (3) 81.13 (4) 66.14
'3) Question not attempted (5) srpeiler wem

86. Match List-T with List-Il and select the correct 86, {fi—1 @1 -1 ¥ frems 2 e 19 fa
T dHe P YUENT IS WE IR B HAA

answer using code given below -

List-1 List-11 Bford —

(Crop) (Producing Districts) (Old) -1 -1
(A) Jojoba (1) Kota, Jhalawar (pre) (eares foret) (gere)
(B) Opium (ii) Jodhpur, Ganganagar (A) SISl (i) FreT, SIS
(C) Coriander (iii) Jalor, Sirohi (B) 31514 (i) SIETR, TRTHTY
(D) Psyllium Husk (iv) Chittorgarh, Baran ©s=fm i) SR, Red
Code - (D) swae  (iv) Fertemrg, ang
(1) (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii) 1
(2) (A)-Gii), (B)-(ii), (C)-(iv), (D)-(i) &” (A)-(ii), (B)-(iv). (C)-i), (D)-(iii)

2) (A)-(iii), (B)-(ii), (C)-(iv), (D)-(i)

(3) (A)-(iii), (B)-(iv), (C)-(1), (D)-(ii)
(@) (A)-(ii), (B)-(iv), (C)-(iii), (D))
(5) Question not attempted

(3) (A)-(iii), (B)-(iv), (C)-(i), (D)-(ii)
(4) (A)-(ii), (B)-(iv), (C)-(iii). (D)-(i)

(8) agaia we
87. Fan pattern human settlement developed inarcas 87 . &3 § @w gfasy #9a
B s e &) '
(1) Plain (2) Hilly (1) f=rh (2) uddrg
(3) Delta (4) Desert (3) o= (4) geeErsTg
(5) Question not attempted (5) srpafa we

88. Which one of the following scholar gave this 88. f=ifafias REmt 4 @ frw Rem 3 sewen

definition of population geography, “Population
Geography related to the demographic facts in
their environment context, studying also causes
‘their circumstances and possible consequences"?

Wi & ufemw Fefofea w9 4§ & 2
“SEEET e oY TafaRr @ wew 3
SHife aeaf @ qo et qur we

s AR @7 TR g e 277

(1) J.B. Garnier () G.T. Trewartha ) St MR (2) ST gen
::]} G.J. [?fr:rnkn (4) John I. Clarke (3) h o IRy (4) W 3, FnE
Question not attempted (5) argaRa we
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89 Which one of the following is not a quantitative 89 F=faf # 9 #Fd Iweve & A &g

method used for demarcation of Umland of a W Y& AT fafy =8f &7

city? (1) weHT oA A — sege. Yol
(1) Law of Retail Gravitation - W.J. Reilly (2) Rfarors famg disd — S8, H=d
(2) Breaking Point Model - P.D. Converse (3) g5y fafr — qu=. Rrde

(3) Polygons Method - A H. Thiessen (= 2 (4) s stee — va ), 9

(4) Interaction Model - H.C. Carey o () Gﬁ?lﬁ?l —

(5) Question not attempted

90. Which organization does not facilitable the 90 IR HRAH HHVSHHVT/ I &1 Wb

process of globalization? ¥ RS A8 27
(1) World Bank (2) :si::t Development ) R ¥ @ cfd fiers i
an
(3) IMF & WTO (3) 3 TR, (8) sz A0,
(5) Question not attempted (8) srgeife wed
91. The basic characteristic of religion is - 91. e & S T —
(1) the concept of purity (1) ufersen @) am@eron
(2) perception of sinful deeds (2) g W &1 aEEn
(3) belief in supernatural power (3) arsitfrs wifd o frsarw
(4) All of the above aiia (4) TuRrae ol
(5) Question not attempted o SRR e
92. Match List-T with List-IT and select the correct - A1 BT gE-1 ¥ e S aen wd 9w
answer using code given below - &1 999 A9 &l T FiE -
List-1 List-11 -1 -1
(Region) (Tribe) P PRI
[A}:::ia{::nai Forest (i) Badawins i e Sk -
(B) Hot Desert Region . (ii) Yakut (B) SWI HEwIely Waw (ii) AT
(C) Monsoon Forests and  (iii) Semang (C) WP 99 U9 uddrg wew (i) {HT
Hilly Region (D) T0g1 v (iv) e
(D) Tundra Region (iv) Santhal
Code - -
(1) (A)-Giv). (B, (C)-(ii), (D)-(0) () (A)-Gv). (B)-(ii), (C)-Gi). (DID)
(2) (A)-(ii), (B)-(3), (C)-iv). (D)-(ii) ey {f:; t:l-tffi. (B)-(), (CHiv), u;:;-n?:-
() (A)-(iii), (B)-(iv), (C)-{ii), (D)-(i) Ei AR, (B, (St $20:0)
(8) (A)-(ii), (B)-), (C)-(ii), (D)-(iv) - (8) (A)-(i), (B)-(D), (C)-(id), (D)-(iv)
(5) Question not attempted (8) srgmifie ue
36-H Page 19 of 32

%




" 93. Which one of the following is the correct chain 93 "85 wwwua  fyer @ w8 gEen

of “A Unified Field Theory™? frferfas & | #f &7
(1) Political Idea — Decision — Movement — (1) vroifas fam — favfs = s a3 -
Field — Political Area AT a9
() Field — Political Idea — Decision —EFE 2) g7 _y ot far — Pk — TR
Movement — Political Area e o
(3) Decision — Field — Political Idea — (3) Frofg — &9 — ToERE AR — TR o
Movement — Political Area A A
(4) Field — Decision —  Political Idea — () &5 — Pk — TorEfE fER — TR -
Movement — Political Area AT A&
| (5) Question not attempted (8) saRe ww
94. “Geography of population was concerned with 94 ST e A weRfa T | WAl o
demonstrating how spatial variations in fF fameo, wvesT warg el “i@' # wfas
distribution, composition, migration and growth e wr @ wsfy 4 el P |
are related to the spatial variations in the nature # gt &
of places.” ?'F:Thu among thf: following gave the ST e #) I aRum Rt & @
above definition of Population Geography? R 20

(1) Arthur Geddes (2) O.E. Baker

(3) John L Clarke (4) Peterson E. James (1) SR oW @) 3E. Ja%
(5) Question not attempted E @) S onE. FS (@) deven o
- (8) s oeH
95. ‘Santhal’ tribe uses Copien as - 95. Wy WOt gRT SuAnT ST & —
(1) Liquor (2) Weapon (1) srer= (2) efrR
(3) Hunmt . (4) Clothes (3) frer (4) a3
(5) Question not attempted (5) sFiRe wee
96. Match List-I with List-Il and choose the correct 96 ¥efi—1 %1 Wa—11 % gafera A wor 9 R
answer from the code given below - T He § 9§ w9 g -
List-1 List-I1 -1 -1l
(Tribals)  (Area) () @)
(A) Jarawa (i) Kerala (A) SARET (i) B
(B) Gad-:'h: [ll} A:?daman & Nicobar Islands (B) T (i) amenr iR FreEr 29 T
(C) Varali [u”l;f:c@ Pradesh & Jammu- (C) aeh (i) fReTaer Wiy v Hﬁ-ﬁ!ﬁl’x’
shmir i
(D)Urali  (iv) Gujarat @SSt (09 E
Code - [ s W —

- () (A)Giv), (B)-(Gi), (C)-Gi), (D)-Gi)

(2) (A)-(i), (B)-(Gii), (C)-(iv), (D)-Gi)
(3) (A)-Gii), (B)-(3), (C)-(i), (D)-(Gv) : 4: {f (f‘”'ém_f"' f’ w, {E}“‘ff}
() (A)-6i), (B)-i), (C)-Giv), (D)Gii) (51{ o il
(5) Question not attempted )

(1) (A)-(iv), (B)-(ii), (C)~(i), (D)-(iii)
(2) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)
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Which among the following is not correct about

Meso level region in regional planning?

(1) Possibility of multi directional development.

(2) Specific characteristics of all local level
production system. .

(3) Damodar river valley is an example.

(4) In a Meso region includes more than one
micro level regions.

7.

wrefire fFgem 4 7 g By @ e o
frfarfag & 9 @ 9d 981 87

(1) 9g f&wn fawra @ e | .
(2) o v W Sames o @ fafinearn)
(3) gTHER FE) UEl UE SQTET B |

(#) v meeE uSw e 6 e g

AL WY wEY miAd B g

hi

(5} Question not attempted AR i
88. "The Spatial Mobility Transition Theory”, is 98 “&fta uResa GHav ddheuar, fas g @
- given by - mg?
(1) Trewartha (2) Jefferson (1) garai (2) FHIE
(3) Clarke (4) Zelinsky (3) T (4) Sferah
(5) Question not attempted (5) argafa wed
99. The name of the first wind energy project started 99 IoRU™ & SIWeR el § UR™ @1 T2 9UA
in Jaisalmer district of Rajasthan is - ygq il UNITeAaT & A & —
(1) Devgarh Wind Energy Project (1) Ea7re g Hail aRgeET
(2) Phalodi Wind Energy Project (2) Tt ugq Ha] gRgTT
(3) Beethdi Wind Energy Project (3) faed vgs So ufraeEn
(4) Amar Sagar Wind Energy Project (4) GH‘H'? AT g ol R
(5) Question not attempted (5) srgerRer e
100. Match List - I with List - I and select the correct ~ 100. 52t - 1 @1 & - [T ¥ gAfora SR @er v
answer using code given below - _Eﬂﬂﬂﬂ'ﬂﬂffﬂﬁﬁﬂg\?ﬁﬁﬁﬁ—
List=1 : -1
(Types of Agricultural Systems) . (3 vefadl & UeR)
(A) Nomadic Herding (A) T TIERT
(B) En.mfncrcial F}ailry Farming (B) aifvfous g Seared Tﬁ
(€ il'l:;\‘fng Culuvs::m.l | (C) R B
(D) us:tfn[‘lancun griculture D) W Tﬁ
qar -1
(Main Areas) (o 8r3)
(i) North-Western Europe, North-East United . p
States, South-East Australia (i) SOl 0, - W T,
(ii) America, Central Africa, South-East Asia T:Iﬁ’l'ﬁl-qﬁ Eﬂ'\‘ﬁﬁfm
(iti) Southern Europe, North Africa, Western (ii) 3pifRaT, Femad] ansia, zl?rur-l{eﬁ Riay
Asia (iii) =Rl gRvg, e s, offed oiRmm
(iv) North Africa, Middle-East, Central Asia (iv) SF4 STt Hea—gd, weq it
Code - ®wC — ;
(1) (A) = (111}, (B) = (i), (C) = (iv), (D) — (ii) ) (1) (A) - (ii1), (B) = (i), (C) = (iv), (D) — (ii)
(2) (A) - (iv), (B) - (ii), (C) - (iii), (D) — (i) E‘i () (A) = (iv), (B) ~ (ii), (C) - (iii), (D) - (i)
(3) (A)— (iv), (B) ~ (i), (C) - (ii), (D) - (iii) LR (3) (A) = (iv), (B) = (i), (C) = (ii), (D) — (iii)
(4) (A) = (ii), (B) = (iv), (C) = (i), (D) — (iii) (4) (A) = (ii), (B) = (iv), (C) - (i), (D) ~ (iii)
(5) Question not attempted (8) arqaiRe w9+
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101. In which economy each centre specialises in one
economic sector?
(2) Closed economy
(4) Inter-related
economy
(5) Question not attempted

(1) Local economy
(3) Open economy

102. Which is an example of ‘footloose industry’
from the following?
(1) Diamond Industry  (2) Jute Industry
(3) Sugar Industry (4) Tron & Steel
Industry
(5) Question not attempted

I

101. foy spefergen # gode o7 us s o §
fafrem e 87
(1) vty srefamaven  (2) @ efergeen
(3) wgefl amiagawen  (4) sov—end

feferavery
oy, 18 argaRa wE
- 4 ¥ BEE EEdw SET B
FETEy 87
(1) E=1 sgm
(3) wrawv ST

(5) areiRa weA

(2) S e
(4) Ste—gayra SemT

103. “Central Place Theory” of Christaller is a best 103. fiweer &1 "@s w@ RErr @ L i

example of -

(1) System Approach

(2) Historical Approach
(3) Deductive Approach
(4) Empirical Approach
(5) Question not attempted

104. “Political Geography is concerned with the

spatial interaction between Political,
Geographical phenomena.”

The definition is given by -

(1) HW. Weigert (2) Richard Muir

(3) Richard Hartshorne (4) A_E. Moodie

(S) Question not attempted

Which one of the following Breed of sheep is
also known as ‘Chapar’?

(1) Nali (2) Chokla

(3) Magra (4) Pugal

(5) Question not attempted

105.

106. Which was not a main objective of the Damodar

Valley Project?

(1) Flood Control

(2) Soil Erosion

(3) Irrigation Development
(4) Hydel-Power Production
(5) Question not attempted

JaE & —
(1) a3 IarH H7
(2) tfterfie Surm @
(3) Frrgeireras SumTH T
(4) s surm &
(5) srpeiftar west
042 i e, werEfae vd A S
@ el I e AN s B W
Fear 81" ufarer € off —
() vagay, e g (2) Ree A7 gm
3) Rerd wdeiid gm (4) vE 4 g™

(5) srgeifta we

105. 4z ) Fy=farfiaa =it & 9 5 'ouw & 5
R 0 o o -4

(1) =ret (2) =rden
(3) 7r7 (4) g
(5) srmiRe wes

106. =1 9 9 Trier wrd) aRdierT o1 geg Stvy
el o —
(1) are Fa=or

. (2) 57T 3uvEs
@{E]ﬁfﬂﬁﬁ?ﬂ'ﬂ

© (@) el g S Searew
(5) srfeife oA
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107. In which belt of Von Thunen's agricultural 107. df% wy7s & Ffd diee & farw U @ adiy

model is the seven year crop manipulation A BYHY gy UTg Sl 87
system found? (MadH - 3 (2) 9t - 5
(1) Belt- 3 (2) Belt - 5 (39 — 6 (4) 421 — 4
(3) Belt- 6 (4) Belt - 4 (5) srgeiRa we
(5) Question not attempted R
108. Which type of resources are soil and water? E fag vd 9w fw woR & HanE 87
(1) Ubiquities Resources (1) HgeH HTE
(2) Uniguities Resources (2) sifg< HarH
(3) Rarities Resources (3) faver warE
(4) Commonalities Resources (4) | e
(5) Question not attempted (5) SR we
108. Who is the author of the book "A Geography of  109. "A Geography of Population : World Patterns”
Population : World Patterns”? qwa® o oEd P 87
(1) W.W. Watson (2) G.T. Trewartha (1) Sy ey, dicad  (2) oid. gami
(3) M. Jefferson (4) B.). Garnier (3) TH. STEvEA (4) §1 o1, A
(5) Question not attempted (5) e e
110. E A, Ackerman has classified the worldintohow - 110- v ted+ 3 Qg #1 fbes SHer—awrm
many Population — Resource regions? went # @iffg fasar 87
(15 (2) 8 (1) 5 (2) 8
(3) 11 43 (3) 11 (4) 3
(5) Question not attempted (5) armfa oA
1. The “Yanomami' tribe’s habitat is - [ e S @ sy A R -
(1) Amazon basin (2) Congo basin ﬁm HF A (2) @iy afde
(3) Irrawaddy basin  (4) Parana basin (3) gwrady aftm (4) yerT A
(8) Question not attempted (5) sl W
112. Match List-I with List-1l and select the correct 112 Sk @ sl & afer g aam w8l 9ae
answer using code given below - @1 94 A R T ae | g -
List-I List-ll -1 I
(City) Amount of rainfall (in cm) () auf @1 "= (AL H)
(a) Guwahati () 183 (a) TETETE (1) 183
(b) Shimla (I1) 140 (b) e (Il) 140
(c) Shillong (I11) 100 (c) farati (110 100
(d) Mumbai (V) 122 &
Code :Tjﬂfr&‘ (IV) 122
(1) (a)-(II), (b)-(IV), (c)-(II), (d)-(D) a2 (1) (@)-(T), (b)-(IV), (&)-CTID), (d)-D)
(2) (a)-(1), (b)-(11), (c)-(HI), (d)-(TV) Eim (@)-(1), (b)-CI). (c)-(1ID), (d)-(IV)
(3) (a)-(IID), (b)-(IV), (c)-(11), (d)-(T) -

(3) (a)-(TII), (b)-(IV), (c)-(IT), (d)~(T)
(4) (a)-(1I0); (b)-(TV), (c)-(1), (d)-(IT)

(5) Irg=iive W

(4) (a)-(IID), (b)-(IV), (c)-(T), (d)-(11)
(5) Question not attempted
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113. Match List-1 with List-Il and select the correct
answer using code given below -

List-I List-1T
Districts (old) {Mining area)
(a) Rajsamand (1) Kachala
(b) Banswara (IT) Odan
(c) Jodhpur (II) Churla
(d) Sikar (IV) Phalsund
Code -

(1) (a)-(11), (b)-(T), (c)-(TV). (d)-(1II)
(2) (a)-(1V), (b)~(I), (c)-(11), (d)~(1I)
(3) (a)-(I0), (b)-(TIL), (c)-(IV), (d)-(1)
(4) (a)-(1T), (b)-(I1), (c)~(1). (d)-(TV)
(5) Question not attempted

114. Which one of the following does not match the
classification of (Major types of Agricultures —
Symbol) in the world given by Kostrowicki?

(1) Socialized Breedings - S

(2) Highly Specialized Livestock Agriculture - H
(3) Traditional Extensive Agriculture - E

(4) Transitional Intensive Agriculture - T

(5) Question not attempted

115. Consider the following statements —
(i) Summer temperature 26°C to 42°C and
- winter temperature is 7°C to 22°C,
(if) Average annual rainfall 30 to 125 cm.
(iii) Having approximated 80% land covered by

3. g1 & gdi-1 9 gafea @@ g |@d)
IR &1 7 A 2 w9 Sife -

-1 11
e (gerer) (@ &)
{a) ¥FTEHS (1) SEen
(b) FrFaTEST (II) @S
2y (c) SRR (TIT) Tt
El'i[d] HrHv (IV) FeT=
E'E -

(1) Ga)-(10), (b)-(1), (c)-(IV), (d)-(111)
(2) (a)-(TV), (b)-(1), (e)=(I1), (d)-(TIT)
(3) (a)-(11), (b)-(1I1), (c)-(IV), (d)-(D)
(4) (a)-(11), (b)-(I0), (c)-(I), (d)-(IV)
(8) armiRa uwA
M4, srgifaa g & 13 Reg 4 (B & v
yaRI-wiafe fre) & afiewr 7 FEfafaEe
A | BT 0 gaferd TE 87
(1) smaretiga ofd — S
(2) 9= faf¥re geure $f — H
(3) e favga B — E
(4) wepHoT TEA HE — T
(8) arEiiE uws
115. f=y @l o fame @ifom —

AL k(1) FroETei aaEE 26°C 9§ 42°C 9 Hasrens

7°C ¥ 22°C)|

Ei{ii]ﬁ-ﬁﬂﬁ e a9t 309 125 9. |

(iii) 39 939 & e SAWe F T 80%

Agricultural Activities. a=ta
m ﬁigl:ﬂ-l‘.:.:im'dlj{.' region has the above Eﬁ:;r m e %ﬁy_ﬂ% yegr 4 27
c eristics? :
(1) Eastern plateau and hills region g: E‘Ii T@E ﬂ ii-:
(2) Upper Ganga plains region : N
(3) Trans Ganga plains ® T RSN
(4) Lower Ganga plains region (4) 3t w1 Fr e v
(5) Question not attempted (8) srgaRa we
116. In the year 1976, the Seveso Chemical Factory 116- 3§ 1976 # W3 wwafs s # fAwwe
Explosion took place in which country? fow g9 # g3 o
{1) China (2) Mexico (1) &5 (2) #fFas!
(3) Ttaly (4) Japan (3) sealt (4) ST
(5) Question not attempted (5) G{T_ﬁﬁﬁ v
7. Who first coined the term "Optimum _‘T_EI-_ "o WAEET weg wdwew fdve B
population”? Coqr?
(1) Cantillon (2) Johnson BL (1) B (2) it
(3) Peterson (4) Bolding (3) Frevd= (4) FifEn
(5) Question not attempted (5) IR e
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118. Which one of the following is a Geo-tourism

8. e & o w6 Re-gRww wige

site? 27

(1) Pushkar Lake (2) Ramgarh Crater o (1) gepe #a (2) ¥ Hew

::: Bap-boulders (4) Todgarh IH (3) am—areed 4) Sremg
Question not attempted 1A 5 SRe e

119. Which one of the following (River - Place of
origin) is not correctly matched?
(1) Berach - Gogunda Hills
(2) Kothari - Diver
(3) Parwati - Bijral Hills
(4) Kakni - Kotri Village
(8) Question not attempted

120. Different scholars have been given different
names to Rural — Urban Fringe. State the false
among the following -

(Name of Fringe — Scholar)

(1) Inner Fringe Belt — Whiteland

(2) Outlying adjacent zone — Reinaman
(3) Outer Fringe Belt — Andrews

(4) True Fringe — Myers and Beegley
(5) Question not attempted

19, frefifae & & S @ (18 — ST wie)
wfera 78 87
(1) ds9 — =T gESAr
(2) Frerd — X
(3) urdeh — fawrer gt
(@) w1t — ®red T
(8) e wee
120. ypftor i gura @1 fafis fagmt S
ST W By & A ¥ 9 amw
qargd —
(@ur= &1 =W — fage)
(1) Hredh 9o U - =BETAvS
(2) arar weituad] 4—Arr — S
(3) arr gursT U — QUgyw
(4) arafae s — W 9 e

121. Which of the following industries does not cﬁ‘ﬂ- Frfofra & 9 w9 saw dus oF ot @

under the industry least affected by fuel
power?
(1) Electrical Machines
(2) Printing and Publishing Industry
(3) Primary Metallurgical Industry
(4) Television Industry
(5) Question not attempted
122. The book “Zeitschrift fiir Geopolitik” is written

by -
(1) Jackson (2) Ratzel
(3) O. Maull (4) Karl Haushofer

(5) Question not attempted

123. Which one of the following is not correctly

matched?
(1) Scantily populated Areas - Nunt@
Argentina e

(2) Areas of High Density — Western Europe

(3) Almost Uninhabited Areas — Northern Part of
Canada

(4) Moderately Populated Areas — Congo Basin

(5) Question not attempted

(8) argafta wea
= gaifad ST @ srta T8 s #?
(1) faega sl #efie
(2) B9 U T SET
(3) wrifiya enfegs @Emm
(8) Echfes S
(5) sl we
122. “Zeitschrift fiir Geopolitik” /& Twra fordt
g oAt —
(1) Stewe (2) Yeura
(3) 3. Hfaa (4) Frel BToHY
(5) arafta wes

123. fFeforida @ 9 @i ve el =8 27
(1) 3/cq o@ & &3 — ST ST
(2) wfos g9ea & &5 — uf¥asd R
(3) wra: S &3 — HS1 BT ST AN
(4) e B & & — Hi Al

(5) srgeRe oo
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124. Subsistence agriculture without rice is found in - 124. ga-fads fFafes o ot orh & -

(1) North-eastern China (2) Tonkin river delta () Sed—ugdt 4= & (2) S a9 =T A
(3) Irrawaddy delta (4) South-eastern China (3) swradY ST H (4) sRh—gdt 4= %
(5) Question not attempted - (8) srFEiRe wea

125. Ten degree channel separates - 1R T 3t 99 yus Fwar € -
(1) Car Nicobar and Great Nicobar (1) R FoER 791 9 FeEr &1
(2) Little Andaman and Car Nicobar (2) B1eT AvEHTH AdT HN fASER F
(3) North Andaman and Middle Andaman (3) T ITSHTT T MY SVEAT &
(4) Little Andaman and Southern Andaman (8) BreT SveHE T SR aveEE Bl
(5) Question not attempted (8) s we

126. The ‘Tampara’ Lake Ramsar wetland site is 126. TaRT Sl aY 94W W WRa @ (W
located in which state of India? T H R 27
(1) Rajasthan (2) Odisha (1) Iy (2) ST
(3) Madhya Pradesh  (4) Tamil Nadu (3) We wEoT (4) wfErerg
(5) Question not attempted (5) e W

127. The correct group of districts of agro-clim 7. Hf—sierarg w39 I0-A ¥ wftfera et & vl
region I11-A is - (as per old districts) IE e & — (quee forel & an)
(1) Rajsamand -Bhilwara - Chittorgarh (1) Yoran — Aearer — fRrtsTe
(2) Ajmer - Dausa - Tonk - Jaipur (2) 3R — & - 2t — SAR
(3) Kota - Bundi - Jhalawar @) FreT — §& — s
(4) Alwar - Bharatpur - Karauli (4) areaw — AR — HAR
(5) Question not attempted (8) argeRe W

- 128. Which of the following regions were 128. %= g1 vfawfda waw 9w am | 94 @™

propounded by Cohen? .14
(1) Political Regions (1) zrerifees waer
(2) Strategic Regions (2) wmfts wew
(3) Geo-Economic Regions (3) y—anféia wawr
(4) Geo-Strategic Regions ' (4) g—wmfte waer
(5) Question not attempted (5 a'ﬂ’ﬁﬁﬂ RS

129. Cebuano and Tocano language is spukm-:ﬂﬂ’- AT UF geter W e wifoe e |
which cultural region? s qrefl W 27
(1) Poland-Slovak cultural region (1) dicivs—irars Hpias 9w
(2) Western Asia cultural region (2) uf¥ersft ofdvn wiepfos TRy
(3) Philippines cultural region (3) foeiii=a wrepfos waw
(4) German Cultural region (4) SAf Pl waw
(5) Question not attempted (8) argeiiRa we
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130. Match List-I with List-IT and select the correct

answer using code given below -

List-1 List-1T
(Physiographic Region)  (Physical "3
Landscape) E,.H
(A) Hadoti Plateau (i) Lasadiya
Platean
(B) Mewar Hilly Region  (ii)Kuchaman-
Nawa Lakes

(C) Central Aravalli Region (iii) Upar Mal

(D) Nagaur Highland
Hills
Code -
(1) (A)-(ii), (B)-(i), (C)-(iii), (D)-(iv)
(@) (A)-(iv), (B)-(iii), (C)-(ii). (D)-(i)
(3) (A)-(iii), (B)-(iv), (C)-(ii), (D)-(i)
(4) (A)-(1id), (B)-(1), (C)=(iv), (D)-(i1)
(5) Question not attempted
131. Which of the following states has the max
length of navigable internal waterways?
(1) Kerala (2) W. Bengal
(3) Bihar (4) Assam
(5) Question not attempted

132. Which of the following is not a type of 132

settlements based on site and situation?
(1) Piedmont Settlement

(2) Intermontane Settlement

(3) Radial Settlement

(4) Plateau Settlement

(5) Question not attempted

133. Who has focused the Electoral Neighbou
Effect Model in electoral study?

{(iv) Merwara

mum 131.

kR

130.

-1 & -l 9 gl S qenr ud
TR @1 aaE A Ry e | A -

-1 -1
(- e rgfe gea)
(A) BISIA! YR (i) TfSaT YoR
(B) #aTs UErEl uaw (i) GATHA—TaT
girel
(C) werraefl Sierael) Wawr (i) SO
(D) TR 37 A (iv) Aarer @
LE ]
%E —

(1) (A)-(ii), (B)-(1), (C)(iii), (DI-(iv)

(2) (A)-(Giv). (B)-(ii1), (Ci-(i), (D)-(1)

(3) (A)-(iii), (B)-(iv), (C)=(ii), (D)-(1)

(4) (A)-(iid), (B)-(1), (C)-(iv), (D)-(i1)

(5) s uee

fo= & 9 fvm g W Arng srele wem
& T waie 27
(1) &va

(3) famr

(5) srpeilRa wea
Fr=ferfaa & 9 S wig vd Rufa & s
Y a1 9N TE 87

(1) frRadm siftara

(2) simvaddra aifeEra

(3) ardra sty

(%) garft siferam

(5) srpafe wes

e vl =R e ufimm @ el
s W fwe @ famar 27

(2) g Fma
(4) 3™

(1) Glenville (2) Cox (1) we=iaa (2) wiaw
(3) Hoover (4) Boustead (3) gaw (4) qraes
(5) Question not attempted (5) sreifa g
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134. Which  diagram

135.

136.

137.

correctly

explains  the

demographic cycle in Demographic Transition

Theory from the following?
(1) | Rural Demographi ¢
Agrarian | Transition
()| Rural emographic
Agrarian Transition
(3) |Rural Demographic
Industrial| Transition
@ | Rural Demographic

P ——
Agrarian | Transition

(5) Question not attempted

Urban

Agrarian

Urban
Industrial

Urban
Industrial

Urban
Industrial

e 1

Assertion (A): The hierarchical expression is

found in the size of cities.

Reason (R) : The size of cities is found
uniform in any state.

Code -

(1) (A) is true but (R) is false
(2) (A) is false but (R) is true
(3) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(4) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
(8) Question not attempted

Which of the following scholar gave the concept

of

'Locational  Triangle'

determining the location of a factory?

(1) David M. Smith
(3) George T. Renner

(5) Question not attempted

Who used the word "Isochrones” for in

location?
(1) Schiffle

(3) August Lisch

(2) Alfred Weber
(4) Allan Pred

(2) Walter Isard

(5) Question not attempted

(4) Tord Palander

in relation to

ot

134. Fr=faflag % | ®9aT Ava Sifes |Ha0
frgT= o Weifthe! o B WE] AR HT B

L) = i e
9 o] 7

@[ o T ——
Fia 'E"W'" afrenfirs

O] " areifaa ard
sfrenfires BrS—— > sitenfie

(4) T T T
Fim iR ? arenfirs

(8) FgaRa ue

135. @or (A): TR @ SR A USFEET Sttt
oy TR # |

E SR (R): @it f gger § 9] F1 R
1.

WY YT ST 2

‘@_

(1) (A) w1 & g (R) 7o 2

(2) (A) T & ueg (R) W8I &

(3) (A) 3R (R) &M W& & (R), (A) B |8
e &

) (A) &R (R) &F1 |8 & (R), (A) 31 w8
e T8 &

(8) argwiRa wes

136. fPr=farfiaa # <1 fvw fgm g ST wIae
we @ Pulvo 5@ @ wEa § wrger
L 5 G e A 1

(1) fas vy, fRay (2) sres
(3) Wfet &1 TR (4) tore US
(5) e wee

137, sirenfie safufd & forg “smgame W &
wanT faee faar?

(1) et (2) aTeey gwTE
(3) sifree &ty (4) €78 teivsy
(8) srgeife wet
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138. The urban system of any region is characterized

by the dominance of one city which is called -
(1) Commercial City  (2) Administrative City
(3) Industrial City (4) Primate City

(5) Question not attempted

138. fipefl M &19 @1 wgd wawy @ f@eear @
¥EY &1 W B 8, fe e e @ —
(1) amiRe % (2) gerraity R
(3) aftenfires e 4) ya R (WgHe
TIR)

M (5) aafa W

139. Arrange the following industrial regions of’ EL%‘W A & afenfie waEl &1 SHaE

Japan, according to their location from North to

South direction.

(1) Kitakyushu — Nagoya — Hiroshima Shikoku —
Kinki

(2) Kinki — Hiroshima Shikoku — Nagoya -
Kitakyushu

(3) Nagoya — Kinki — Hiroshima Shikoku -
Kitaykyushu

(4) Kinki — Nagoya — Kitakyushu, — Hiroshima
Shikoku

(5) Question not attempted

140. Which one of the following held the view that
location of an Industry is mainly dependent upon
the demand? .

(1) George. T. Renner (2) Edgar M. Hoover 5 %

(3) EM. Rawstron (4) August Losch
(5) Question not attempted

141. The ‘Sinharaja’ forest reserve is located in which
country?

(1) Nepal (2) India
(3) Indonesia (4) Sri Lanka
(5) Question not attempted

142. According to Christaller, the service area of the

town extends to how many kilometres?

(1) 4 (25
(3) 8 (4) 7
(5) Question not attempted

143. Which of the following rivers is not a right-wise

fufy @& srqar, oo 9 2fé #9 4 aEfyd

TEA W B Y

(1) fpamergyy — arirn — fRORMT R —
e

(2 fFat — fBafmm R - -
ey

(3) i — e — fRORmr B —
feerarg

@ fee — v — feaegy — fRORE
e,

(5) ygwiRe wed

140. genri &t Rufa fFRuRor w9/ @ g8d aE

yarEl &1 ugE HR®, f&w f@ge |9 e 87

(1) Gifsl. & ¥R (2) TeTR A, g
(3) $.un. It (4) itree @
(8) arfifte wes

141, fexror @9 Rerd fig <o 7 Rem @7
(1) Fur (2) wra
(3) g=rfran (4) s
(8) srgaRa ueA

142. fiFveToR & AUR, W & Hal 83 @ AR
farert fareiniter @ &mar &7
(1) 4 (2) 5
(3) 8 (4) 7
(8) argeiiRe ue

13, fp 3§ | F1FA 70 dwgd 1 T SR D

tributary of Brahmaputra? : WEr® A6l A8 87

(1) Sankosh (2) Subansiri Fotd () o (2) gt
(3) Disang (4) Dhanashree (3) femrT (4) a7
(5) Question not attempted (8) srgmiR W
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144. Martch List-I with List-I1 and select the correct

answer using code given below -
List-1

(A) L.S. Bhatt and V_.L.S. Prakasha
(B) P, Sengupta and G. Sdasyuks
(C) R.P. Mishra and others
(D) R.L. Singh

List-11
(1) 07, Primary regions
(ii) 13, Primary regions
(iii) 04, Primary regions
(iv) 11, Primary regions
Code -
(1) (A) = (iv). (B) - (i). (C) - (i), (D) — (iii)
(2) (A) - (iii), (B) - (ii), (C) - (iv), (D) - (i)
(3) (A) = (iv), (B) - (ii), (C) - (iii), (D) — (i)
(4) (A) - (iii), (B) = (iv), (C) = (ii), (D) = (i)
(5) Question not attempted

145. "Cumulative Causation Model” was given by

which scholar?
(1) Gunnar Myrdal
(3) John Friedman (4) Ragnar Nurkse
(5) Question not attempted

146.
answer using code given below -

(2) Albert Hirschman

Maitch List-1 with List-Il and select the correct

144. [i-1 1 g1l & | wafea i aor a2
oW B w9 AE R e ¥ e -
-1

(A) TeLUH. HE Ud LU TH. HHTE
(B) &Y. A A Sf. WErRE
(C) s, B 9 wsarh
(D) R.e. e

-1
(i) ey Avit & 07 wewr
(ii) w2 Aoft & 13 uaer
(iii) 9o Ao & 04 wam
(iv) werE gt & 1)
o — .
(1) (A) = (iv), (B) = (i), (C) = (ii). (D) — (iii)
(2) (A) - (iii), (B) = (i), (C) = (iv), (D) — (i)
(3) (A) —(iv), (B} - (ii), (C) - (iii), (D)= (i)
(4) (A) — (iii), (B) = (iv), (C) — (ii), (D) (i)

-2

(5) sl W
145. “ged) wrgtones Aiee few fRgm g R
LiEii
: (M) =R Pda (2) arcad fawhi
;'EH (3) St W (4) TR AP
1R (6) R we

6. 31 &1 -1l 9 yafea AR aen wd
U @ w9 A R g 9 FHifw -

List-1 List-II -1 g
(Districts)  (Scheduled castes in the {Rﬂﬂ'ﬂ m & w5 :
total population of the 3 ﬁ <R — 2011
district (percent) 2011 Census) o)
(a) Karauli (h 17.77
i () ST (H17.77
(b) Bikaner (1) 21.87 m il
(c) Bharatpur  (I11) 20.88 : R ( 1:- :
(d) Alwar {w] 24.31 (c) ‘HHSE (III) 20.88
Code - (d)ysieraw  (IV) 24.31
(1) (a)-(IV), (b)-(TIT), (c)-(11), (d)~(T) ]
= (1) (a)~(1V), (b)-(HIT), (c)-(I0), (d)-(T)

(2) (a)-(1). (b)-(II), (c)-(IV), (d)-(IT)
(3) (a)-(1), (b)-(1I), (c)-(IID), (d)-(IV)
(4) (a)-(TV), (b)-(ID), (c)-(IID), (d)-(T)
(5) Question not attempted

(2) (a)-(I), (b)-(TIT), (c)-(IV), (d)-(11)
(3) (a)-(1), (b)-(ID), (c)-(TID), (d)-(TV)
(4) (a)-(IV), (b)-(I1), (c)-(1T0), (d)-(1)

(5) srgeiia wed
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147.

148.

149.

150.

Which is not a correct match (Type of Capital
City - Example) among the following?
(1) Historical Capital City - Rome

(2) Proposed Capital City - Canbara
(3) Peripherical Capital City - Madrid
(4) Divided Capital City - Amsterdam
(5) Question not attempted

Which of the following river does not discharge
its water into the Sambhar lake?

(1) Masi (2) Roopangarh
(3) Medha (4) Khandela
(5) Question not attempted
Match Column-I with Column-I1 -
Column-I Column-1I
(Minerals) (Mining Area)
{A) Tungsten (i) Kho-Dariba
(B) Iron-ore {ii) Jawar region
(C) Copper (iii) Degana region 5
(D) Lead and Zinc  (iv) Dabla region -
Code - L

(1) (A)-(i), (B)-(ii), (C)-(iii), (D)-{iv)
(2) (A)-(i1), (B)-(1), (C)-(iii), (D)-(iv)
(3) (A)-(1), (B)=(i1), (C)-(iv), (D)-(iii)
(8) (A)-(iii), (B)=(iv). (C)-(i), (D)-(i1)
(5) Question not attempted

Assertion (A): The mortality rate of women is
higher in developing countries.
Reason (R): Climatic conditions are not found
good in developing countries. -
(1) (A) is false but (R) is true
(2) Both (A) and (R) are correct and (R) is the
correct explanation of (A)

147.

e

148.

149.

150.

(3) Both (A) and (R) are correct but (R) is not
correct explanation of (A) -
. 5

(4) (A) is true but (R) is false
(5) Question not attempted

Ffefa % 9§ FEw (o &1 9eR —
TETEvYT) Wel gHferd =@ &7

(1) vfeefe Toart — 39

(2) geeifae wroEr — da

(3) Hrmadt wraarEt — #fgs

(4) Ty YO — TR

(8) argaifite ueA

F=iferitaa & 9§ S 78 s 9o a9 i
# ymfga 8 & 87

(1) \rdt (2) wuy=Tg
(3) g (4) TvEar
(5) argeiiver we
wHfera 1o a1 o raa-11 § —
HicA—1 HieH—I1
(@) (@ &)
(A) STeEA (i) @i—geran
(B) die—3ravs (i) TTER &3
(C) T (iii) ST &=
(D) BrE—or=T (iv) SEaT &=
qc =

(1) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)

(2) (A)-(ii), (B)-(i), (C)-(ii), (D)-(iv)

(3) (A)-(1), (B)-(ii), (C)-(iv), (D)-(iii)

(4) (A)-(iii), (B)-(iv), (C)=(i), (D)-(ii)

(5) araia ue

YA (A): R ot # wigemi # gaes

s et 8|
SR (R): fapasiia aoi o SoErgme g
&t 8 gy W £

(1) (A) Terd U=+ (R) W81 &

(2) (A) 3fIF (R) SF1 w81 3R (R), (A) BT wEl
T B

(3) (A) 3% (R) 31T W 5 (R), (A) 3 6E
a8 2

(4) (A) WE! U¥=g (R) el @

(5) sreifter W
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